Rebel 12 Standard Parts List

Picotech's Description in English

Kit

PC-R12001 1/12 Rebel Pan Car Kit

Chassis

PC-PMQS02 Rebel - Bumper & Body Post Set
PC-RCHO0O8RD Rebel - Motor Plate Red
PC-RCHO09RD Rebel - Mount Plate Red
PC-RCHO10RD Rebel - Adjuster Tube Red (Rear)
PC-RCHO15RD Rebel - 18mm Standoff
PC-RCHO19 Rebel - Body Post Roll Pin
PC-RCHO021 Rebel - Bumper Foam
PC-RCHO022 Rebel - Antenna

PC-RCHSO001 Rebel - Battery Positioner
PC-RCHS002 Rebel - Shock Tower
PC-RCHSO003 Rebel 12 - Chassis - SubC 2.5mm
PC-RCHSO005 Rebel 12 - Bottom Plate
PC-RCHS006 Rebel 12 - Shock Mount
PC-RCHS007 Rebel 12 - Cross Brace
PC-RMASO5 Rebel - Bearing Carrier A (2pcs)
PC-RMBS04 Rebel - Spring Adjuster (4pcs)
PC-RMDS02 Rebel - Antenna & Shock Mount
PC-RMDSO03 Rebel - Battery Locator
PC-RMDS05 Rebel - Servo Mount - Small Servo - Upright (1pair)
Drive Shaft

PA-DRO0001 Diff. Ring (2pcs)
PC-RDT001BK Rebel - Rear Axle
PC-RDTO002RD Rebel - Right Hub
PC-RDTO03RD Rebel - Differential Collar
PC-RDT004RD Rebel - Left Hub
PC-RDTO005RD Rebel - Left Hub (ver2)
PC-RMCS04 Rebel - Differential Nut (4pcs)

PO-CDB112BK

Ceramic Ball 1/8" (12pcs)

Ball Bearing

PA-SB168F Flanged Steel Ball Bearing 1/4 x 3/8 (2pcs)
PA-SBO025F Flanged Steel Ball Bearing 1/8 x 5/16 (4pcs)
PA-SB0168 Steel Ball Bearing 1/4 x 3/8 (2pcs)

Suspension




PC-RCHO005 Rebel - Front Axle (2pcs)

PC-RCHO11RD Rebel - Dampner Tube

PC-RCHO12 Rebel - Dampner Rod

PC-RCHO13RD Rebel - Front Cross Brace Tube
PC-RCHO014 Rebel - Front Cross Brace Insert
PC-RLKO0O01 Rebel - Tie-Rod 20mm (2pcs)

PC-RMASO1 Rebel - Front Suspension Arm Ver.2 (2pcs)
PC-RMASO02 Rebel - Upper Arm Set

PC-RMASO03 Rebel - Steering Block (2pcs)

PC-RMAS04 Rebel - Bottom Pivot Socket

PC-RMBSO01 Rebel - Ball Cup - 8.75mm (5pcs)
PC-RMCS05 Rebel - Upper Hinge Pin Clip Set (0.5, 1.0 & 1.5mm each 2pcs)
PC-RMDS04 Rebel - Link (2pcs)

PC-RSU002RD Rebel - Reactive Adjuster

PC-RSUO03RD Rebel - Suspension Mount Insert (3pcs)
PC-RSU008 Rebel - King Pin (2pcs)

PC-RSU009 Rebel - Upper Arm Hinge Pin (2cps)
PC-RSU010 Rebel - Front Suspension Ball (4pcs)
PC-RSUO11 Rebel - Pivot Ball (3pcs)

PC-RSUO13RD Rebel - Pivot Socket Screw & Insert

Shock Absorber

PC-RSHSO1RD Rebel - Shock Set (1set)

PC-RMBSO03 Rebel - Shock Cap (3pcs)

PC-RSHO004RD Rebel - Shock Spring Retainer

PC-RSHO005 Rebel - Shock Spring Adjuster

PC-RSHO006 Rebel - Shock Shaft

PC-RSHO007 Rebel - Shock Pistion

PC-RSHO008 Rebel - Shock Guide

PC-RSH009 Rebel - Shock Bladder (3pcs)
PC-RSHI01RD Rebel - Shock Body

PP-012200 Rebel - Shock O-Ring (3pcs)

Spring

PS-PC11080 Rebel - Center Shock Spring 1.1mm x 8 coils
PS-PF05050 Rebel - Front Spring 0.5mm x 5 coils (2pcs)
PS-PS05560 Rebel - Side Spring 0.55mm x 6 coils (2pcs)
Spur Gear

SG-K64100 Spur Gear 64P 100T - Kit Std

Linkage

AW-HBS004H Rebel - 4.3 Ball Stud

PC-RLKO002 Rebel 12 - Tie-Rod 40mm (2pcs)




PC-RMBS02 Rebel - Ball Cup - 16mm (5pcs)
SS-KMO1BK Servo Savers Mid size w/holes
Accessores

AW-ASO050RD Pan Car Rear Axle Spacer - 0.5mm (8pcs)
AW-AS100RD Pan Car Rear Axle Spacer - Imm (8pcs)
AW-AS200RD Pan Car Rear Axle Spacer - 2mm (8pcs)
AW-KS050RD Pan Car King Pin Spacer - 0.5mm (8pcs)
AW-KS100RD Pan Car King Pin Spacer - Imm (8pcs)
AW-KS200RD Pan Car King Pin Spacer - 2mm (8pcs)
AW-KS300RD Pan Car King Pin Spacer - 3mm (8pcs)
PA-BPS3SV Body Clip (20pcs)

PA-LNOOM3 M3 Steel Nylon Lock Nut (10 pcs)
PC-RLB001 Rebel Decal Sticker

PA-ER0015 1.5mm E-Clip (10pcs)

PA-ER0020 2.0mm E-Clip (30pcs)

Screw

PA-BM0306BK

M3x6mm Botton Head Screw (10pcs)

PA-BMO0308BK

M3x8mm Botton Head Screw (10pcs)

PA-BM2504BK

M2.5x4mm Botton Head Screw (8pcs)

PA-BM2506BK

M2.5x6mm Botton Head Screw (8pcs)

PA-BM2508BK

M2.5x8mm Botton Head Screw (8pcs)

PA-BM2510BK

M2.5x10mm Botton Head Screw (8pcs)

PA-BM2512BK

M2.5x12mm Botton Head Screw (8pcs)

PA-CMO0306BK

M3x6mm Countersunk Head Screw (10pcs)

PA-CMO0308BK

M3x8mm Countersunk Head Screw (10pcs)

PA-CMO0310BK

M3x10mm Countersunk Head Screw (10pcs)

PA-CM2506BK

M2.5x6mm Countersunk Head Screw (8pcs)

PA-CM2508BK

M2.5x8mm Countersunk Head Screw (8pcs)

PA-CM2510BK

M2.5x10mm Countersunk Head Screw (8pcs)

PA-CM2512BK

M2.5x12mm Countersunk Head Screw (8pcs)

PA-SCM207BK

M2 x 7mm Chess Head Screw (8pcs)

PA-SS0303BK

Steel Set Screw M3 x 3 (10pcs)

PA-SS0306BK.

Steel Set Screw M3 x 6 (10pcs)

PA-SS0308BK.

Steel Set Screw M3 x 8 (10pcs)

PA-SS0310BK

Steel Set Screw M3 x 10 (8pcs)




